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Circuit QNA-0, Adjac2nt node listener receive timeoot 
hc:!,:i:::tc12nt ni:::.rdt.i .::; 60 .. 260 

%%%%%%%%%%% OPCOM 28-SEP-1994 14~39:28.09 %%%~%%%%%¼% 
M~.?.ss-:191.\?. tr.:.:;m u:~:1i.=2.r DECNET c.1n BIGGUY 
DECnet event 4n18, adjacency down 
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Circuit QNA-0, Adjacent node listener rec~ive timeciut 
Adjacent node= 60u260 
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a;, :~~ .-~! r;! .. :v. ~ii: ~;~ :~{ :~: :.~~ -~.~: 
Mf~·::;;·::-::-:::ig1=~ 'from user DECNET on BIGGUY ··""~-·--·•···-"·­
DECnet event 4g15, adjacency up 
1:=rom node 6() .. 2. (BIGGU\l), 2a---SEP--:1.{;,•::i,,4··•i;f:'~::i'f:~)d.,49 
Circuit C~NPi•·O, {:id:5-::tCE.~nt nc:idE:: :: 6(r:25cr·· 

Message 1rom ~ser DECNET on BIGGUY 
DECnet event 4n18, adjacency down 
From node 60ft2 (BIGGUY), 28-SEP-1994 14:53:50"04 
Circuit QNA-0, Adjacent node listener receive timeout 
Adjacent node= 60.260 

DECnet event 4.15, adjacency up 
From node 60.2 (BIGGUY),_28-SEP-1994 15:14:27H67 
Circuit QNA-0, Adjacent node= 60~268 
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DECnet.event 4.18, adjacency down 
From node 60.2 (BIGGUY), 28-SEP-1994 18:34;12.04 
Circuit QNA-0, Adjacent node listener receive timeout 
Adjacent node= 60~268 

Message from user DECNET on BIGGUY 
DECnet event 4.18, adjacency down 
From node 60n2 (BIGGUY), 29-SEP-1994 10:46:53.04 
Circuit QNA-0, Adjacent node listener receive timeout 
f.:-1 d :j -::'i c erd: n ci d •:~i ::; 60 ~ ~::iO ( TCHJ U3 ) 

Message. from user DECNET on BIGGUY 
DECnet event 4.15, adjacency up 
From node 60.2 (BIGGUY), 29-SEP-1994 10:52~52.65 
Circuit QNA-0, Adjacent node= 60u50 (TOOLS) 

Mt!~:iS-::,.i:;_;i,.?. t rom u~-er DECNET on BIGGU\( 
DECnet event 4"18, adjacency down 
From node 60.2 (BIGGUY), 29-SEP~1994 12:51:12u04 
Circuit QNA-0, Adjacent node listenir receive timeout 
Ad:j -::(C~i~nt r·iocl~;1 ::: 60 .. ,::10 ( 12lL.PHi:::i) 
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